

# **Summary of Bids Received**

Project: Quentin Road Sidewalk Crossings

**Section:** 20-00090-16-SW

**Description:** Sidewalk and ADA ramps at Quentin Rd and Route 22

Bidder Alliance Contractors, Inc. Acura Inc. Copenhaver Construction Berger Excavating Contractors Landmark Contractors, Inc. MYS, Incorporated	Address 1166 Lake Avenue 556 County Line Rd 75 Koppie Dr. 1205 Garland Road P.O. Box 1104 12416 S. Harlem Avenue	City, State, Zip Woodstock, IL 60098 Bensenville, IL 60106 Gilberts, IL 60136 Wauconda, IL 60084 Huntley, IL 60142 Palos Heights, IL 60463	Bond Bid Bond	Bid Price \$233,808.41 \$262,510.03 \$266,706.60 \$280,347.16 \$285,160.90 \$348,248.65	3.05% 8.32% 10.18%	\$ Over/Under Eng. Estimate -\$24,998.39 \$3,703.23 \$7,899.80 \$21,540.30 \$26,354.10 \$89,441.89
Engineer's Estimate				\$258,806.80		
Design	IDOT(2)	Contract Bidder	C	ounty Engineer		
inance	Bid Tab File	Resident Eng.	N	lgr Capital Progra	mming	
Construction	Project File	Request By Mail				



Project: Quentin Road Sidewalk Crossings

Section: 20-00090-16-SW

**Description:** Sidewalk and ADA ramps at Quentin Rd and Route 22

Item	Pay Code Description	Quantity U	Eng E	stimate	Alliance Con	tractors, Inc.	Berger Excavati	ng Contractors	Landmark Cor	ntractors, Inc.	Copenhaver	Construction	Acur	a Inc.	MYS, Inco	orporated
No.	Pay Code Description	Quantity	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	20101000 TEMPORARY FENCE	527.0 FC	OT \$2.00	\$1,054.00	\$0.10	\$52.70	\$6.50	\$3,425.50	\$10.00	\$5,270.00	\$3.00	\$1,581.00	\$10.00	\$5,270.00	\$5.00	\$2,635.00
2	20200100 EARTH EXCAVATION	434.0 CL	YD \$20.00	\$8,680.00	\$1.00	\$434.00	\$43.00	\$18,662.00	\$54.50	\$23,653.00	\$28.00	\$12,152.00	\$35.00	\$15,190.00	\$65.00	\$28,210.00
3	20400800 FURNISHED EXCAVATION	456.0 CL	YD \$30.00	\$13,680.00	\$0.01	\$4.56	\$0.01	\$4.56	\$45.90	\$20,930.40	\$10.00	\$4,560.00	\$25.00	\$11,400.00	\$65.00	\$29,640.00
4	20800150 TRENCH BACKFILL	2.0 CL	YD \$80.00	\$160.00	\$20.00	\$40.00	\$150.00	\$300.00	\$61.35	\$122.70	\$200.00	\$400.00	\$75.00	\$150.00	\$75.00	\$150.00
5	21101615 TOPSOIL FURNISH AND PLACE, 4"	432.0 SC	YD \$3.00	\$1,296.00	\$1.00	\$432.00	\$9.00	\$3,888.00	\$6.25	\$2,700.00	\$4.00	\$1,728.00	\$7.00	\$3,024.00	\$7.25	\$3,132.00
6	25000400 NITROGEN FERTILIZER NUTRIENT	6.0 PO	JND \$2.00	\$12.00	\$5.00	\$30.00	\$5.00	\$30.00	\$5.00	\$30.00	\$1.00	\$6.00	\$5.00	\$30.00	\$6.00	\$36.00
7	25000600 POTASSIUM FERTILIZER NUTRIENT	6.0 PO	JND \$2.00	\$12.00	\$5.00	\$30.00	\$5.00	\$30.00	\$5.00	\$30.00	\$1.00	\$6.00	\$5.00	\$30.00	\$6.00	\$36.00
8	25200110 SODDING, SALT TOLERANT	432.0 SC	YD \$10.00	\$4,320.00	\$15.00	\$6,480.00	\$15.00	\$6,480.00	\$15.00	\$6,480.00	\$8.00	\$3,456.00	\$12.00	\$5,184.00	\$16.50	\$7,128.00
9	25200200 SUPPLEMENTAL WATERING	10.0 UI	NIT \$300.00	\$3,000.00	\$100.00	\$1,000.00	\$25.00	\$250.00	\$100.00	\$1,000.00	\$0.01	\$0.10	\$50.00	\$500.00	\$115.00	\$1,150.00
10	28000305 TEMPORARY DITCH CHECKS	21.0 FC	OT \$50.00	\$1,050.00	\$20.00	\$420.00	\$42.00	\$882.00	\$20.00	\$420.00	\$15.00	\$315.00	\$50.00	\$1,050.00	\$23.00	\$483.00
11	28000510 INLET FILTERS	6.0 EA	CH \$100.00	\$600.00	\$100.00	\$600.00	\$265.00	\$1,590.00	\$155.00	\$930.00	\$70.00	\$420.00	\$150.00	\$900.00	\$125.00	\$750.00
12	30300112 AGGREGATE SUBGRADE IMPROVEN	MENT 115.0 SC	YD \$14.00	\$1,610.00	\$1.00	\$115.00	\$33.00	\$3,795.00	\$35.00	\$4,025.00	\$14.00	\$1,610.00	\$20.00	\$2,300.00	\$50.00	\$5,750.00
13	35101400 AGGREGATE BASE COURSE, TYPE I	98.0 To	ON \$35.00	\$3,430.00	\$1.00	\$98.00	\$59.00	\$5,782.00	\$50.75	\$4,973.50	\$33.00	\$3,234.00	\$20.00	\$1,960.00	\$25.00	\$2,450.00
14	40604060 HOT-MIX ASPHALT SURFACE COUR: IL-9.5, MIX "D", N50	SE, 9.0 To	ON \$150.00	\$1,350.00	\$280.00	\$2,520.00	\$500.00	\$4,500.00	\$495.00	\$4,455.00	\$400.00	\$3,600.00	\$300.00	\$2,700.00	\$700.00	\$6,300.00
15	42001300 PROTECTIVE COAT	391.0 SC	YD \$1.50	\$586.50	\$1.00	\$391.00	\$3.00	\$1,173.00	\$4.50	\$1,759.50	\$2.00	\$782.00	\$1.00	\$391.00	\$3.00	\$1,173.00
16	42400200 PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	2,765.0 SC	FT \$8.00	\$22,120.00	\$8.55	\$23,640.75	\$8.00	\$22,120.00	\$7.40	\$20,461.00	\$7.00	\$19,355.00	\$7.00	\$19,355.00	\$12.25	\$33,871.25
17	42400800 DETECTABLE WARNINGS	183.0 SC	FT \$25.00	\$4,575.00	\$34.00	\$6,222.00	\$42.00	\$7,686.00	\$42.95	\$7,859.85	\$28.00	\$5,124.00	\$35.00	\$6,405.00	\$25.00	\$4,575.00
18	44000500 COMBINATION CURB AND GUTTER REMOVAL	236.0 FC	OT \$10.00	\$2,360.00	\$50.00	\$11,800.00	\$10.00	\$2,360.00	\$17.90	\$4,224.40	\$6.00	\$1,416.00	\$7.00	\$1,652.00	\$15.00	\$3,540.00
19	550A0340 STORM SEWERS, CLASS A, TYPE 2	12" 16.0 FC	OT \$75.00	\$1,200.00	\$150.00	\$2,400.00	\$107.00	\$1,712.00	\$105.00	\$1,680.00	\$150.00	\$2,400.00	\$150.00	\$2,400.00	\$150.00	\$2,400.00
20	55100500 STORM SEWER REMOVAL 12"	5.0 FC	OT \$25.00	\$125.00	\$25.00	\$125.00	\$85.00	\$425.00	\$25.75	\$128.75	\$20.00	\$100.00	\$100.00	\$500.00	\$25.00	\$125.00
21	60236200 INLETS, TYPE A, TYPE 8 GRATE	1.0 EA	CH \$1,000.00	\$1,000.00	\$2,805.00	\$2,805.00	\$1,950.00	\$1,950.00	\$1,995.00	\$1,995.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$3,250.00	\$3,250.00
22	60251740 CATCH BASINS TO BE ADJUSTED W NEW TYPE 24 FRAME AND GRATE	ITH 1.0 EA	CH \$1,000.00	\$1,000.00	\$565.00	\$565.00	\$1,375.00	\$1,375.00	\$640.70	\$640.70	\$900.00	\$900.00	\$750.00	\$750.00	\$3,500.00	\$3,500.00
23	60500060 REMOVING INLETS	1.0 EA	CH \$200.00	\$200.00	\$100.00	\$100.00	\$420.00	\$420.00	\$486.25	\$486.25	\$20.00	\$20.00	\$200.00	\$200.00	\$750.00	\$750.00
24	60605000 COMBINATION CONCRETE CURB AN GUTTER, TYPE B-6.24	ID 236.0 FC	OT \$35.00	\$8,260.00	\$42.55	\$10,041.80	\$53.00	\$12,508.00	\$71.10	\$16,779.60	\$26.00	\$6,136.00	\$25.00	\$5,900.00	\$45.00	\$10,620.00
25	67100100 MOBILIZATION	1.0 L S	\$10,000.00	\$10,000.00	\$14,000.00	\$14,000.00	\$16,800.00	\$16,800.00	\$23,500.00	\$23,500.00	\$15,120.00	\$15,120.00	\$15,750.00	\$15,750.00	\$12,500.00	\$12,500.00
26	70107025 CHANGEABLE MESSAGE SIGN	56.0 CA	_ DA \$40.00	\$2,240.00	\$30.00	\$1,680.00	\$30.00	\$1,680.00	\$30.00	\$1,680.00	\$37.00	\$2,072.00	\$35.00	\$1,960.00	\$100.00	\$5,600.00
27	72400500 RELOCATE SIGN PANEL ASSEMBLY TYPE A	- 1.0 EA	CH \$150.00	\$150.00	\$100.00	\$100.00	\$100.00	\$100.00	\$100.00	\$100.00	\$400.00	\$400.00	\$100.00	\$100.00	\$350.00	\$350.00
28	72400710 RELOCATE SIGN PANEL - TYPE 1	8.0 SC	FT \$20.00	\$160.00	\$65.00	\$520.00	\$75.00	\$600.00	\$90.00	\$720.00	\$40.00	\$320.00	\$75.00	\$600.00	\$350.00	\$2,800.00
29	78009000 MODIFIED URETHANE PAVEMENT MARKING - LETTERS AND SYMBOLS	73.0 SC	FT \$5.00	\$365.00	\$5.00	\$365.00	\$8.00	\$584.00	\$8.00	\$584.00	\$10.00	\$730.00	\$10.00	\$730.00	\$10.00	\$730.00
30	78009006 MODIFIED URETHANE PAVEMENT MARKING - LINE 6"	265.0 FC	OT \$2.00	\$530.00	\$2.00	\$530.00	\$2.00	\$530.00	\$2.00	\$530.00	\$3.00	\$795.00	\$4.03	\$1,067.95	\$23.00	\$6,095.00



Project: Quentin Road Sidewalk Crossings

Section: 20-00090-16-SW

**Description:** Sidewalk and ADA ramps at Quentin Rd and Route 22

Item	Day Code	Decement on	Ougatite: 11:::	Eng Es	stimate	Alliance Cont	ractors, Inc.	Berger Excavati	ng Contractors	Landmark Cor	tractors, Inc.	Copenhaver	Construction	Acui	ra Inc.	MYS, Inc	orporated
No.	Pay Code	Description	Quantity Uni	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
31		MODIFIED URETHANE PAVEMENT MARKING - LINE 12"	1,254.0 FOC	T \$2.25	\$2,821.50	\$4.00	\$5,016.00	\$4.00	\$5,016.00	\$4.00	\$5,016.00	\$5.00	\$6,270.00	\$8.06	\$10,107.24	\$4.75	\$5,956.50
32		MODIFIED URETHANE PAVEMENT MARKING - LINE 24"	52.0 FOC	T \$3.00	\$156.00	\$5.00	\$260.00	\$8.00	\$416.00	\$8.00	\$416.00	\$9.00	\$468.00	\$16.12	\$838.24	\$10.00	\$520.00
33		INDERGROUND CONDUIT, GALVANIZED STEEL, 2" DIA.	23.0 FOC	T \$20.00	\$460.00	\$23.30	\$535.90	\$23.30	\$535.90	\$23.30	\$535.90	\$27.00	\$621.00	\$23.30	\$535.90	\$26.85	\$617.55
34	81028220 S	INDERGROUND CONDUIT, GALVANIZED STEEL, 3" DIA.	46.0 FOC	T \$30.00	\$1,380.00	\$38.30	\$1,761.80	\$38.30	\$1,761.80	\$38.30	\$1,761.80	\$45.00	\$2,070.00	\$38.30	\$1,761.80	\$45.00	\$2,070.00
35		INDERGROUND CONDUIT, GALVANIZED STEEL, 4" DIA.	16.0 FOC	T \$40.00	\$640.00	\$58.50	\$936.00	\$58.50	\$936.00	\$58.50	\$936.00	\$68.00	\$1,088.00	\$58.50	\$936.00	\$67.50	\$1,080.00
36		MAINTENANCE OF EXISTING TRAFFIC SIGNAL INSTALLATION	1.0 EAC	H \$2,000.00	\$2,000.00	\$1,760.00	\$1,760.00	\$1,760.00	\$1,760.00	\$1,760.00	\$1,760.00	\$2,024.00	\$2,024.00	\$1,760.00	\$1,760.00	\$2,025.00	\$2,025.00
37		ELECTRIC CABLE IN CONDUIT, SIGNAL IO. 14 2C	1,638.0 FOC	T \$1.10	\$1,801.80	\$1.20	\$1,965.60	\$1.20	\$1,965.60	\$1.20	\$1,965.60	\$2.00	\$3,276.00	\$1.20	\$1,965.60	\$1.50	\$2,457.00
38		ELECTRIC CABLE IN CONDUIT, SIGNAL IO. 14 3C	1,675.0 FOC	T \$1.20	\$2,010.00	\$1.50	\$2,512.50	\$1.50	\$2,512.50	\$1.50	\$2,512.50	\$2.00	\$3,350.00	\$1.50	\$2,512.50	\$1.75	\$2,931.25
39		ELECTRIC CABLE IN CONDUIT, SIGNAL IO. 14 7C	620.0 FOC	T \$1.40	\$868.00	\$2.30	\$1,426.00	\$2.30	\$1,426.00	\$2.30	\$1,426.00	\$3.00	\$1,860.00	\$2.30	\$1,426.00	\$2.75	\$1,705.00
40		ELECTRIC CABLE IN CONDUIT, SERVICE, IO. 6 2 C	72.0 FOC	T \$2.75	\$198.00	\$3.70	\$266.40	\$3.70	\$266.40	\$3.70	\$266.40	\$5.00	\$360.00	\$3.70	\$266.40	\$4.25	\$306.00
41	87301900 E	ELECTRIC CABLE IN CONDUIT, EQUIPMENT GROUNDING CONDUCTOR, IO. 6 1C	238.0 FOC	T \$2.50	\$595.00	\$1.90	\$452.20	\$1.90	\$452.20	\$1.90	\$452.20	\$3.00	\$714.00	\$1.90	\$452.20	\$2.25	\$535.50
42	87800100 C	CONCRETE FOUNDATION, TYPE A	12.0 FOC	T \$250.00	\$3,000.00	\$251.30	\$3,015.60	\$251.30	\$3,015.60	\$251.30	\$3,015.60	\$289.00	\$3,468.00	\$251.30	\$3,015.60	\$290.00	\$3,480.00
43		ONCRETE FOUNDATION, TYPE E 36- NCH DIAMETER	13.0 FOC	T \$200.00	\$2,600.00	\$280.00	\$3,640.00	\$280.00	\$3,640.00	\$280.00	\$3,640.00	\$322.00	\$4,186.00	\$280.00	\$3,640.00	\$325.00	\$4,225.00
44	87900200 D	RILL EXISTING HANDHOLE	8.0 EAC	H \$400.00	\$3,200.00	\$281.00	\$2,248.00	\$281.00	\$2,248.00	\$281.00	\$2,248.00	\$324.00	\$2,592.00	\$281.00	\$2,248.00	\$325.00	\$2,600.00
45	88102717 BI	PEDESTRIAN SIGNAL HEAD, LED, 1-FACE, BRACKET MOUNTED WITH COUNTDOWN TIMER	8.0 EAC	H \$800.00	\$6,400.00	\$425.00	\$3,400.00	\$425.00	\$3,400.00	\$425.00	\$3,400.00	\$489.00	\$3,912.00	\$425.00	\$3,400.00	\$500.00	\$4,000.00
46		RAFFIC SIGNAL BACKPLATE, OUVERED, FORMED PLASTIC	2.0 EAC	H \$220.00	\$440.00	\$269.00	\$538.00	\$269.00	\$538.00	\$269.00	\$538.00	\$310.00	\$620.00	\$269.00	\$538.00	\$315.00	\$630.00
47	88800100 PI	PEDESTRIAN PUSH-BUTTON	8.0 EAC	H \$400.00	\$3,200.00	\$358.00	\$2,864.00	\$358.00	\$2,864.00	\$358.00	\$2,864.00	\$412.00	\$3,296.00	\$358.00	\$2,864.00	\$415.00	\$3,320.00
48		EMPORARY TRAFFIC SIGNAL NSTALLATION	1.0 EAC	H \$50,000.00	\$50,000.00	\$33,785.00	\$33,785.00	\$33,785.00	\$33,785.00	\$33,785.00	\$33,785.00	\$38,853.00	\$38,853.00	\$33,785.00	\$33,785.00	\$38,850.00	\$38,850.00
49	89500100 R	RELOCATE EXISTING SIGNAL HEAD	8.0 EAC	H \$650.00	\$5,200.00	\$648.00	\$5,184.00	\$648.00	\$5,184.00	\$648.00	\$5,184.00	\$746.00	\$5,968.00	\$648.00	\$5,184.00	\$750.00	\$6,000.00
50		RELOCATE EXISTING TRAFFIC SIGNAL CONTROLLER	1.0 EAC	H \$2,000.00	\$2,000.00	\$1,760.00	\$1,760.00	\$1,760.00	\$1,760.00	\$1,760.00	\$1,760.00	\$2,024.00	\$2,024.00	\$1,760.00	\$1,760.00	\$2,025.00	\$2,025.00
51		RELOCATE EXISTING TRAFFIC SIGNAL POST	3.0 EAC	H \$700.00	\$2,100.00	\$512.00	\$1,536.00	\$512.00	\$1,536.00	\$512.00	\$1,536.00	\$589.00	\$1,767.00	\$512.00	\$1,536.00	\$600.00	\$1,800.00
52		RELOCATE EXISTING MAST ARM SSEMBLY AND POLE	1.0 EAC	H \$1,500.00	\$1,500.00	\$3,520.00	\$3,520.00	\$3,520.00	\$3,520.00	\$3,520.00	\$3,520.00	\$4,048.00	\$4,048.00	\$3,520.00	\$3,520.00	\$4,050.00	\$4,050.00



Project: Quentin Road Sidewalk Crossings

Section: 20-00090-16-SW

**Description:** Sidewalk and ADA ramps at Quentin Rd and Route 22

Item	Pau Cada Paa	a wi m 4 i a m	Ouantitu II	l.a.i4	Eng Est	imate	Alliance Cont	ractors, Inc.	Berger Excavat	ing Contractors	Landmark Cor	ntractors, Inc.	Copenhaver	Construction	Acur	a Inc.	MYS, Inc	orporated
No.	Pay Code Desc	cription	Quantity U	Init Unit I	Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
53	RELOCATE EXISTIN 89501410 VEHICLE PRIORITY UNIT		1.0 EA	ACH	\$500.00	\$500.00	\$196.00	\$196.00	\$196.00	\$196.00	\$196.00	\$196.00	\$226.00	\$226.00	\$196.00	\$196.00	\$225.00	\$225.00
54	89502200 MODIFY EXISTING (	CONTROLLER	1.0 EA	ACH \$	\$1,200.00	\$1,200.00	\$1,168.00	\$1,168.00	\$1,168.00	\$1,168.00	\$1,168.00	\$1,168.00	\$1,344.00	\$1,344.00	\$1,168.00	\$1,168.00	\$1,350.00	\$1,350.00
55	89502300 REMOVE ELECTRIC CONDUIT	CABLE FROM	1,076.0 FC	ООТ	\$0.75	\$807.00	\$0.40	\$430.40	\$0.40	\$430.40	\$0.40	\$430.40	\$0.50	\$538.00	\$0.40	\$430.40	\$0.50	\$538.00
56	89502350 REMOVE AND REIN CABLE FROM CONE		420.0 FC	ООТ	\$1.50	\$630.00	\$1.30	\$546.00	\$1.30	\$546.00	\$1.30	\$546.00	\$1.50	\$630.00	\$1.30	\$546.00	\$1.50	\$630.00
57	89502376 REBUILD EXISTING	HANDHOLE	1.0 EA	ACH \$	\$2,900.00	\$2,900.00	\$2,347.00	\$2,347.00	\$2,347.00	\$2,347.00	\$2,347.00	\$2,347.00	\$2,699.00	\$2,699.00	\$2,347.00	\$2,347.00	\$2,750.00	\$2,750.00
58	89502385 REMOVE EXISTING FOUNDATION	CONCRETE	5.0 EA	ACH	\$300.00	\$1,500.00	\$440.00	\$2,200.00	\$440.00	\$2,200.00	\$440.00	\$2,200.00	\$506.00	\$2,530.00	\$440.00	\$2,200.00	\$506.00	\$2,530.00
59	X0326309 RELOCATE EXISTIN CONTROLLED VIDE	IG REMOTE - O SYSTEM (SPECIAL)	1.0 EA	ACH \$	\$1,500.00	\$1,500.00	\$1,760.00	\$1,760.00	\$1,760.00	\$1,760.00	\$1,760.00	\$1,760.00	\$2,024.00	\$2,024.00	\$1,760.00	\$1,760.00	\$2,025.00	\$2,025.00
60	X0327036 BIKE PATH REMOVA	AL	51.0 SC	Q YD	\$12.00	\$612.00	\$15.00	\$765.00	\$22.00	\$1,122.00	\$14.90	\$759.90	\$20.00	\$1,020.00	\$25.00		\$25.00	
61	X0327211 RELOCATE SWITCH		1.0 EA	ACH	\$600.00	\$600.00	\$220.00	\$220.00	\$220.00	\$220.00	\$220.00	\$220.00	\$253.00	\$253.00	\$220.00	\$220.00	\$255.00	\$255.00
62	X0327980 BLASTING	IG REMOVAL - WATER	175.0 SC	Q FT	\$2.00	\$350.00	\$9.00	\$1,575.00	\$9.00	\$1,575.00	\$9.00	\$1,575.00	\$5.00	\$875.00	\$5.00	\$875.00	\$17.50	\$3,062.50
63	X1400012 REMOVE AND REIN CABLE IN CONDUIT	STALL FIBER OPTIC	63.0 FC	ООТ	\$2.00	\$126.00	\$27.60	\$1,738.80	\$27.60	\$1,738.80	\$27.60	\$1,738.80	\$32.00	\$2,016.00	\$27.60	\$1,738.80	\$32.00	\$2,016.00
64	X1400102 OUTDOOR RATED NETWORK CABLE		247.0 FC	ООТ	\$5.00	\$1,235.00	\$3.00	\$741.00	\$3.00	\$741.00	\$3.00	\$741.00	\$3.50	\$864.50	\$3.00	\$741.00	\$3.50	\$864.50
65	X1400215 REMOTE CONTROL	LED VIDEO SYSTEM	1.0 EA	ACH \$	\$7,000.00	\$7,000.00	\$5,393.00	\$5,393.00	\$5,393.00	\$5,393.00	\$5,393.00	\$5,393.00	\$6,202.00	\$6,202.00	\$5,393.00	\$5,393.00	\$6,210.00	\$6,210.00
66	X1400216 LAYER II (DATALINK	() SWITCH	1.0 EA	ACH \$	\$5,000.00	\$5,000.00	\$4,360.00	\$4,360.00	\$4,360.00	\$4,360.00	\$4,360.00	\$4,360.00	\$5,014.00	\$5,014.00	\$4,360.00	\$4,360.00	\$5,025.00	\$5,025.00
67	X1400217 TERMINATE FIBER	IN CABINET	24.0 EA	ACH	\$200.00	\$4,800.00	\$196.00	\$4,704.00	\$196.00	\$4,704.00	\$196.00	\$4,704.00	\$225.50	\$5,412.00	\$196.00	\$4,704.00	\$225.50	\$5,412.00
68	X1400323 RELOCATE EXISTIN	IG ENCODER	1.0 EA	ACH	\$500.00	\$500.00	\$220.00	\$220.00	\$220.00	\$220.00	\$220.00	\$220.00	\$253.00	\$253.00	\$220.00	\$220.00	\$255.00	\$255.00
69	X1400367 PEDESTRIAN SIGNA	AL POST, 10 FT.	2.0 EA	ACH \$	\$1,200.00	\$2,400.00	\$992.00	\$1,984.00	\$992.00	\$1,984.00	\$992.00	\$1,984.00	\$1,140.00	\$2,280.00	\$992.00	\$1,984.00	\$1,200.00	\$2,400.00
70	X2130010 EXPLORATION TRE	NCH, SPECIAL	50.0 FC	ООТ	\$25.00	\$1,250.00	\$1.00	\$50.00	\$20.45	\$1,022.50	\$40.00	\$2,000.00	\$20.00	\$1,000.00	\$75.00	\$3,750.00	\$10.00	\$500.00
71	X2800500 INLET PROTECTION	I, SPECIAL	1.0 EA	ACH	\$150.00	\$150.00	\$1.00	\$1.00	\$400.00	\$400.00	\$306.75	\$306.75	\$150.00	\$150.00	\$250.00	\$250.00	\$50.00	\$50.00
72	X7010216 TRAFFIC CONTROL (SPECIAL)	AND PROTECTION,	1.0 L \$	SUM \$2	20,000.00	\$20,000.00	\$27,150.00	\$27,150.00	\$37,000.00	\$37,000.00	\$4,000.00	\$4,000.00	\$35,000.00	\$35,000.00	\$25,000.00	\$25,000.00	\$20,000.00	\$20,000.00
73	X7830074 GROOVING FOR REMARKING 7"	ECESSED PAVEMENT	18.0 FC	ООТ	\$1.00	\$18.00	\$5.00	\$90.00	\$3.00	\$54.00	\$3.00	\$54.00	\$21.00	\$378.00	\$1.50	\$27.00	\$375.00	\$6,750.00
74	X7830078 GROOVING FOR RE MARKING 13"	CESSED PAVEMENT	404.0 FC	ООТ	\$1.25	\$505.00	\$6.00	\$2,424.00	\$7.50	\$3,030.00	\$7.50	\$3,030.00	\$9.00	\$3,636.00	\$3.00	\$1,212.00	\$8.65	\$3,494.60
75	X7830090 GROOVING FOR RE MARKING 25"	ECESSED PAVEMENT	52.0 FC	ООТ	\$2.00	\$104.00	\$10.00	\$520.00	\$10.00	\$520.00	\$10.00	\$520.00	\$12.00	\$624.00	\$6.00	\$312.00	\$12.00	\$624.00
76	X8780010 CONCRETE FOUND INCH DIAMETER	ATION, TYPE A 10-	8.0 FC	ООТ	\$200.00	\$1,600.00	\$228.30	\$1,826.40	\$228.30	\$1,826.40	\$228.30	\$1,826.40	\$262.50	\$2,100.00	\$228.30	\$1,826.40	\$265.00	\$2,120.00
77	Z0019600 DUST CONTROL WA	ATERING	1.0 U	NIT	\$100.00	\$100.00	\$1.00	\$1.00	\$135.00	\$135.00	\$920.00	\$920.00	\$500.00	\$500.00	\$1,500.00	\$1,500.00	\$750.00	\$750.00
78	Z0010688 CAMERA MOUNTING	G ASSEMBLY	1.0 EA	ACH \$	\$3,000.00	\$3,000.00	\$2,046.00	\$2,046.00	\$2,046.00	\$2,046.00	\$2,046.00	\$2,046.00	\$2,353.00	\$2,353.00	\$2,046.00	\$2,046.00	\$2,500.00	\$2,500.00
79	Z0033044 RE-OPTIMIZE TRAF	FIC SIGNAL SYSTEM	1.0 EA	ACH \$1	10,000.00	\$10,000.00	\$1,078.00	\$1,078.00	\$1,078.00	\$1,078.00	\$1,078.00	\$1,078.00	\$1,239.00	\$1,239.00	\$1,078.00	\$1,078.00	\$1,250.00	\$1,250.00



Project: Quentin Road Sidewalk Crossings

Section: 20-00090-16-SW

**Description:** Sidewalk and ADA ramps at Quentin Rd and Route 22

CPMS Pin: B-01572 Let Date: 5/11/2021

Item	Pay Code	Description	Quantity	Unit	Eng Est	imate	Alliance Cont	ractors, Inc.	Berger Excavati	ng Contractors	Landmark Co	ntractors, Inc.	Copenhaver	Construction	Acur	a Inc.	MYS, Inco	orporated
No.	b.   -	Description	Quantity	Offic	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
80	Z0073510	TEMPORARY TRAFFIC SIGNAL TIMING	1.0	EACH	\$1,200.00	\$1,200.00	\$825.00	\$825.00	\$825.00	\$825.00	\$825.00	\$825.00	\$949.00	\$949.00	\$825.00	\$825.00	\$950.00	\$950.00
81	LC200501 MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS		1,524.0	UNIT	\$1.00	\$1,524.00	\$1.00	\$1,524.00	\$1.00	\$1,524.00	\$1.00	\$1,524.00	\$1.00	\$1,524.00	\$1.00	\$1,524.00	\$1.00	\$1,524.00
	Bid Total				\$258,806.80		\$233,808.41		\$280,347.16		\$285,160.90		\$266,706.60		\$262,510.03		\$348,248.65	

CODEF Version 0.0.967 Page 5



Project: Quentin Road Sidewalk Crossings

**Section:** 20-00090-16-SW

**Description:** Sidewalk and ADA ramps at Quentin Rd and Route 22

		0/11/2021							
Item	Pay Code	Description	Quantity	Unit	Eng Es	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	1 ay Code	Description	Quantity	Oilit	Unit Price	Extnd. Price	Price	Price	Price
1	20101000	TEMPORARY FENCE	527.0	FOOT	\$2.00	\$1,054.00	\$0.10	\$10.00	\$5.77
2	20200100	EARTH EXCAVATION	434.0	CU YD	\$20.00	\$8,680.00	\$1.00	\$65.00	\$37.75
3	20400800	FURNISHED EXCAVATION	456.0	CU YD	\$30.00	\$13,680.00	\$0.01	\$65.00	\$24.32
4	20800150	TRENCH BACKFILL	2.0	CU YD	\$80.00	\$160.00	\$20.00	\$200.00	\$96.89
5	21101615	TOPSOIL FURNISH AND PLACE, 4"	432.0	SQ YD	\$3.00	\$1,296.00	\$1.00	\$9.00	\$5.75
6	25000400	NITROGEN FERTILIZER NUTRIENT	6.0	POUND	\$2.00	\$12.00	\$1.00	\$6.00	\$4.50
7	25000600	POTASSIUM FERTILIZER NUTRIENT	6.0	POUND	\$2.00	\$12.00	\$1.00	\$6.00	\$4.50
8	25200110	SODDING, SALT TOLERANT	432.0	SQ YD	\$10.00	\$4,320.00	\$8.00	\$16.50	\$13.58
9	25200200	SUPPLEMENTAL WATERING	10.0	UNIT	\$300.00	\$3,000.00	\$0.01	\$115.00	\$65.00
10	28000305	TEMPORARY DITCH CHECKS	21.0	FOOT	\$50.00	\$1,050.00	\$15.00	\$50.00	\$28.33
11	28000510	INLET FILTERS	6.0	EACH	\$100.00	\$600.00	\$70.00	\$265.00	\$144.17
12	30300112	AGGREGATE SUBGRADE IMPROVEMENT 12"	115.0	SQ YD	\$14.00	\$1,610.00	\$1.00	\$50.00	\$25.50
13	35101400	AGGREGATE BASE COURSE, TYPE B	98.0	TON	\$35.00	\$3,430.00	\$1.00	\$59.00	\$31.46
14	40604060	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N50	9.0	TON	\$150.00	\$1,350.00	\$280.00	\$700.00	\$445.83
15	42001300	PROTECTIVE COAT	391.0	SQ YD	\$1.50	\$586.50	\$1.00	\$4.50	\$2.42
16	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	2,765.0	SQ FT	\$8.00	\$22,120.00	\$7.00	\$12.25	\$8.37
17	42400800	DETECTABLE WARNINGS	183.0	SQ FT	\$25.00	\$4,575.00	\$25.00	\$42.95	\$34.49



Project: Quentin Road Sidewalk Crossings

**Section:** 20-00090-16-SW

**Description:** Sidewalk and ADA ramps at Quentin Rd and Route 22

Item	Day Code	Decayintion	Quantity	Unit	Eng Es	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Price	Price	Price
18	44000500	COMBINATION CURB AND GUTTER REMOVAL	236.0	FOOT	\$10.00	\$2,360.00	\$6.00	\$50.00	\$17.65
19	550A0340	STORM SEWERS, CLASS A, TYPE 2 12"	16.0	FOOT	\$75.00	\$1,200.00	\$105.00	\$150.00	\$135.33
20	55100500	STORM SEWER REMOVAL 12"	5.0	FOOT	\$25.00	\$125.00	\$20.00	\$100.00	\$46.79
21	60236200	INLETS, TYPE A, TYPE 8 GRATE	1.0	EACH	\$1,000.00	\$1,000.00	\$1,500.00	\$3,250.00	\$2,166.67
22	60251740	CATCH BASINS TO BE ADJUSTED WITH NEW TYPE 24 FRAME AND GRATE	1.0	EACH	\$1,000.00	\$1,000.00	\$565.00	\$3,500.00	\$1,288.45
23	60500060	REMOVING INLETS	1.0	EACH	\$200.00	\$200.00	\$20.00	\$750.00	\$329.38
24	60605000	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24	236.0	FOOT	\$35.00	\$8,260.00	\$25.00	\$71.10	\$43.78
25	67100100	MOBILIZATION	1.0	L SUM	\$10,000.00	\$10,000.00	\$12,500.00	\$23,500.00	\$16,278.33
26	70107025	CHANGEABLE MESSAGE SIGN	56.0	CAL DA	\$40.00	\$2,240.00	\$30.00	\$100.00	\$43.67
27	72400500	RELOCATE SIGN PANEL ASSEMBLY - TYPE A	1.0	EACH	\$150.00	\$150.00	\$100.00	\$400.00	\$191.67
28	72400710	RELOCATE SIGN PANEL - TYPE 1	8.0	SQ FT	\$20.00	\$160.00	\$40.00	\$350.00	\$115.83
29	78009000	MODIFIED URETHANE PAVEMENT MARKING - LETTERS AND SYMBOLS	73.0	SQ FT	\$5.00	\$365.00	\$5.00	\$10.00	\$8.50
30	78009006	MODIFIED URETHANE PAVEMENT MARKING - LINE 6"	265.0	FOOT	\$2.00	\$530.00	\$2.00	\$23.00	\$6.01
31	78009012	MODIFIED URETHANE PAVEMENT MARKING - LINE 12"	1,254.0	FOOT	\$2.25	\$2,821.50	\$4.00	\$8.06	\$4.97



Project: Quentin Road Sidewalk Crossings

**Section:** 20-00090-16-SW

**Description:** Sidewalk and ADA ramps at Quentin Rd and Route 22

ltem	Pay Code	Description	Quantity	Unit	Eng Es	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Ullit	Unit Price	Extnd. Price	Price	Price	Price
32	78009024	MODIFIED URETHANE PAVEMENT MARKING - LINE 24"	52.0	FOOT	\$3.00	\$156.00	\$5.00	\$16.12	\$9.35
33	81028200	UNDERGROUND CONDUIT, GALVANIZED STEEL, 2" DIA.	23.0	FOOT	\$20.00	\$460.00	\$23.30	\$27.00	\$24.51
34	81028220	UNDERGROUND CONDUIT, GALVANIZED STEEL, 3" DIA.	46.0	FOOT	\$30.00	\$1,380.00	\$38.30	\$45.00	\$40.53
35	81028240	UNDERGROUND CONDUIT, GALVANIZED STEEL, 4" DIA.	16.0	FOOT	\$40.00	\$640.00	\$58.50	\$68.00	\$61.58
36	85000200	MAINTENANCE OF EXISTING TRAFFIC SIGNAL INSTALLATION	1.0	EACH	\$2,000.00	\$2,000.00	\$1,760.00	\$2,025.00	\$1,848.17
37	87301215	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 2C	1,638.0	FOOT	\$1.10	\$1,801.80	\$1.20	\$2.00	\$1.38
38	87301225	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 3C	1,675.0	FOOT	\$1.20	\$2,010.00	\$1.50	\$2.00	\$1.63
39	87301255	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 7C	620.0	FOOT	\$1.40	\$868.00	\$2.30	\$3.00	\$2.49
40	87301805	ELECTRIC CABLE IN CONDUIT, SERVICE, NO. 6 2 C	72.0	FOOT	\$2.75	\$198.00	\$3.70	\$5.00	\$4.01
41	87301900	ELECTRIC CABLE IN CONDUIT, EQUIPMENT GROUNDING CONDUCTOR, NO. 6 1C	238.0	FOOT	\$2.50	\$595.00	\$1.90	\$3.00	\$2.14



Project: Quentin Road Sidewalk Crossings

**Section:** 20-00090-16-SW

**Description:** Sidewalk and ADA ramps at Quentin Rd and Route 22

	Let Date.	01172021			Eng E	stimate			
Item No.	Pay Code	Description	Quantity	Unit			Min. Bid Price	Max. Bid Price	Avg. Bid Price
NO.					Unit Price	Extnd. Price	Price	Price	Price
42	87800100	CONCRETE FOUNDATION, TYPE A	12.0	FOOT	\$250.00	\$3,000.00	\$251.30	\$290.00	\$264.03
43	87800415	CONCRETE FOUNDATION, TYPE E 36- INCH DIAMETER	13.0	FOOT	\$200.00	\$2,600.00	\$280.00	\$325.00	\$294.50
44	87900200	DRILL EXISTING HANDHOLE	8.0	EACH	\$400.00	\$3,200.00	\$281.00	\$325.00	\$295.50
45	88102717	PEDESTRIAN SIGNAL HEAD, LED, 1-FACE, BRACKET MOUNTED WITH COUNTDOWN TIMER	8.0	EACH	\$800.00	\$6,400.00	\$425.00	\$500.00	\$448.17
46	88200410	TRAFFIC SIGNAL BACKPLATE, LOUVERED, FORMED PLASTIC	2.0	EACH	\$220.00	\$440.00	\$269.00	\$315.00	\$283.50
47	88800100	PEDESTRIAN PUSH-BUTTON	8.0	EACH	\$400.00	\$3,200.00	\$358.00	\$415.00	\$376.50
48	89000100	TEMPORARY TRAFFIC SIGNAL INSTALLATION	1.0	EACH	\$50,000.00	\$50,000.00	\$33,785.00	\$38,853.00	\$35,473.83
49	89500100	RELOCATE EXISTING SIGNAL HEAD	8.0	EACH	\$650.00	\$5,200.00	\$648.00	\$750.00	\$681.33
50	89501100	RELOCATE EXISTING TRAFFIC SIGNAL CONTROLLER	1.0	EACH	\$2,000.00	\$2,000.00	\$1,760.00	\$2,025.00	\$1,848.17
51	89501150	RELOCATE EXISTING TRAFFIC SIGNAL POST	3.0	EACH	\$700.00	\$2,100.00	\$512.00	\$600.00	\$539.50
52	89501300	RELOCATE EXISTING MAST ARM ASSEMBLY AND POLE	1.0	EACH	\$1,500.00	\$1,500.00	\$3,520.00	\$4,050.00	\$3,696.33



Project: Quentin Road Sidewalk Crossings

**Section:** 20-00090-16-SW

**Description:** Sidewalk and ADA ramps at Quentin Rd and Route 22

		0/11/2021							
Item	Pay Code	Description	Quantity	Unit	Eng Es	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	ray code	Description	Quantity	Offic	Unit Price	Extnd. Price	Price	Price	Price
53	89501410	RELOCATE EXISTING EMERGENCY VEHICLE PRIORITY SYSTEM, PHASING UNIT	1.0	EACH	\$500.00	\$500.00	\$196.00	\$226.00	\$205.83
54	89502200	MODIFY EXISTING CONTROLLER	1.0	EACH	\$1,200.00	\$1,200.00	\$1,168.00	\$1,350.00	\$1,227.67
55	89502300	REMOVE ELECTRIC CABLE FROM CONDUIT	1,076.0	FOOT	\$0.75	\$807.00	\$0.40	\$0.50	\$0.43
56	89502350	REMOVE AND REINSTALL ELECTRIC CABLE FROM CONDUIT	420.0	FOOT	\$1.50	\$630.00	\$1.30	\$1.50	\$1.37
57	89502376	REBUILD EXISTING HANDHOLE	1.0	EACH	\$2,900.00	\$2,900.00	\$2,347.00	\$2,750.00	\$2,472.83
58	89502385	REMOVE EXISTING CONCRETE FOUNDATION	5.0	EACH	\$300.00	\$1,500.00	\$440.00	\$506.00	\$462.00
59	X0326309	RELOCATE EXISTING REMOTE - CONTROLLED VIDEO SYSTEM (SPECIAL)	1.0	EACH	\$1,500.00	\$1,500.00	\$1,760.00	\$2,025.00	\$1,848.17
60	X0327036	BIKE PATH REMOVAL	51.0	SQ YD	\$12.00	\$612.00	\$14.90	\$25.00	\$20.32
61	X0327211	RELOCATE SWITCH	1.0	EACH	\$600.00	\$600.00	\$220.00	\$255.00	\$231.33
62	X0327980	PAVEMENT MARKING REMOVAL - WATER BLASTING	175.0	SQ FT	\$2.00	\$350.00	\$5.00	\$17.50	\$9.08
63	X1400012	REMOVE AND REINSTALL FIBER OPTIC CABLE IN CONDUIT	63.0	FOOT	\$2.00	\$126.00	\$27.60	\$32.00	\$29.07
64	X1400102	OUTDOOR RATED NETWORK CABLE	247.0	FOOT	\$5.00	\$1,235.00	\$3.00	\$3.50	\$3.17



Project: Quentin Road Sidewalk Crossings

**Section:** 20-00090-16-SW

**Description:** Sidewalk and ADA ramps at Quentin Rd and Route 22

Item	Day Cada	Description	Overstitus	Unit	Eng Es	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Price	Price	Price
65	X1400215	REMOTE CONTROLLED VIDEO SYSTEM	1.0	EACH	\$7,000.00	\$7,000.00	\$5,393.00	\$6,210.00	\$5,664.00
66	X1400216	LAYER II (DATALINK) SWITCH	1.0	EACH	\$5,000.00	\$5,000.00	\$4,360.00	\$5,025.00	\$4,579.83
67	X1400217	TERMINATE FIBER IN CABINET	24.0	EACH	\$200.00	\$4,800.00	\$196.00	\$225.50	\$205.83
68	X1400323	RELOCATE EXISTING ENCODER	1.0	EACH	\$500.00	\$500.00	\$220.00	\$255.00	\$231.33
69	X1400367	PEDESTRIAN SIGNAL POST, 10 FT.	2.0	EACH	\$1,200.00	\$2,400.00	\$992.00	\$1,200.00	\$1,051.33
70	X2130010	EXPLORATION TRENCH, SPECIAL	50.0	FOOT	\$25.00	\$1,250.00	\$1.00	\$75.00	\$27.74
71	X2800500	INLET PROTECTION, SPECIAL	1.0	EACH	\$150.00	\$150.00	\$1.00	\$400.00	\$192.96
72	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$20,000.00	\$20,000.00	\$4,000.00	\$37,000.00	\$24,691.67
73	X7830074	GROOVING FOR RECESSED PAVEMENT MARKING 7"	18.0	FOOT	\$1.00	\$18.00	\$1.50	\$375.00	\$68.08
74	X7830078	GROOVING FOR RECESSED PAVEMENT MARKING 13"	404.0	FOOT	\$1.25	\$505.00	\$3.00	\$9.00	\$6.94
75	X7830090	GROOVING FOR RECESSED PAVEMENT MARKING 25"	52.0	FOOT	\$2.00	\$104.00	\$6.00	\$12.00	\$10.00
76	X8780010	CONCRETE FOUNDATION, TYPE A 10- INCH DIAMETER	8.0	FOOT	\$200.00	\$1,600.00	\$228.30	\$265.00	\$240.12
77	Z0019600	DUST CONTROL WATERING	1.0	UNIT	\$100.00	\$100.00	\$1.00	\$1,500.00	\$634.33
78	Z0010688	CAMERA MOUNTING ASSEMBLY	1.0	EACH	\$3,000.00	\$3,000.00	\$2,046.00	\$2,500.00	\$2,172.83
79	Z0033044	RE-OPTIMIZE TRAFFIC SIGNAL SYSTEM LEVEL 1	1.0	EACH	\$10,000.00	\$10,000.00	\$1,078.00	\$1,250.00	\$1,133.50



Project: Quentin Road Sidewalk Crossings

**Section:** 20-00090-16-SW

**Description:** Sidewalk and ADA ramps at Quentin Rd and Route 22

Item	Pay Code	Description	Quantity	Unit	Eng Es	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	No.	Description	Quantity	Offic	Unit Price	Extnd. Price	Price	Price	Price
80	Z0073510	TEMPORARY TRAFFIC SIGNAL TIMING	1.0	EACH	\$1,200.00	\$1,200.00	\$825.00	\$950.00	\$866.50
81	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	1,524.0	UNIT	\$1.00	\$1,524.00	\$1.00	\$1.00	\$1.00
		Bid Total				\$258,806.80			